
 
Comment dérive-t-on une fonction composée ? 

(𝒗 ∘ 𝒖)′ = (𝒗′ ∘ 𝒖) × 𝒖′ 
Dé términér lés dé rivé és suivantés : 

a) ∀𝑥 ∈ ℝ,   𝑓(𝑥) = √𝑥2 + 1 

b) ∀𝑥 ∈ ℝ,   𝑔(𝑥) =
1

√𝑥2+1
 

c) (√𝒖)
′

= ⋯       

d) (
𝟏

𝒖
)

′
= ⋯       

e) ∀𝑥 ∈ ℝ,   ℎ(𝑥) = √𝑒𝑥 + 1 



Dé términér lés dé rivé és suivantés : 
 
 

f) ∀𝑥 ∈ ℝ,   𝑓(𝑥) = (2 − 5𝑥)7 

g) ∀𝑥 ∈ ]−∞;
2

5
[ ∪ ]

2

5
; +∞[ ,   𝑔(𝑥) =

1

(2−5𝑥)7 

h) (𝒖𝟐)′ = ⋯     (𝒖𝟑)′ = ⋯  (𝒖𝒏)′ = ⋯   

i) (
𝟏

𝒖𝟐)
′

= ⋯     (
𝟏

𝒖𝟑)
′

= ⋯  (
𝟏

𝒖𝒏)
′

= ⋯   

j) ∀𝑥 ∈ ℝ,   ℎ(𝑥) =
1

(3−7𝑥)5 

 



Dé términér lés dé rivé és suivantés : 

k) ∀𝑥 ∈ ℝ,   𝑓(𝑥) = 𝑒𝑥2
 

l) ∀𝑥 ∈ [−
1

2
; +∞[ ,   𝑔(𝑥) = 𝑒√2𝑥+1 

m) (𝒆𝒖)′ = ⋯     

n) ∀𝑥 ∈ ℝ,   ℎ(𝑥) = (3𝑥 − 4)4 

o) ∀𝑥 ∈ ℝ,   𝑓(𝑥) = 𝑒(3𝑥−4)4
 


